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QUESTION 1

Which of the following actions must you perform to design the dimensions of an InfoCube when you want to accelerate
query performance? (3)

A. Assign two characteristics that have an N:M relationship to different dimensions
B. Each dimension should have the same number of characteristics

C. Place the most selective characteristics first in the dimensions

D. Use the line item dimensions for characteristics with high cardinality

E. Assign two compounded characteristics to different dimensions

Correct Answer: ACD

QUESTION 2

You want to increase the overall performance of a designed standard DSO. The DSO has contains 100 InfoObjects in
its definition, 5 of which are in the Key Part. Which of the following possible actions should you take? There are 3
correct answers.

A. Create secondary indexes.

B. Decrease the size of the Key Part.

C. Set up automatic deletion of Change Log data.

D. Set the Settings option for Unique records.

E. Set up the automatic movement of Active Table records to a subsequent InfoProvider.

Correct Answer: ACD

QUESTION 3

Which of the following is a valid sequence for modeling objects in the BW data flow? (1)

A. From DataSource to InfoSource to InfoCube without a Transformation

B. From DataSource to Transformation to InfoSource to InfoCube

C. From DataSource to Transformation to InfoSource to Transformation to InfoCube

D. From DataSource to InfoSource then directly to another InfoSource to Transformation to InfoCube
E. From InfoSource to DataSource to InfoCube

Correct Answer: C
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QUESTION 4

You want postable nodes in a hierarchy to appear in multiple hierarchy branches. What action could you take to
accomplish this? (2)

A. Enter the postable nodes as Link Nodes

B. Configure the hierarchy as time-dependent

C. Create multiple similar hierarchies

D. Configure the hierarchy with a time-dependent structure

Correct Answer: D

QUESTION 5

You want to load data from an SAP ERP source system in SAP BW. Which of the following ETL technologies could you
use? There are 2 correct answers.

A. Flat files.

B. SAP Data Services with the Service API.

C. UD Connect with JDBC connectors to SQL Server.
D. DB Connect with a Microsoft Access database.

E. Bl Content with the Service API.

Correct Answer: BE
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